
ଶݔ − 4 = 0
       +4    + 4
ଶݔ           = 4
       ඥݔଶ

⎯⎯⎯ = ±√4⎯⎯ 

ݔ            = ±2

ݔ) − 2)ଶ − 1 = 0
                  +1       + 1
ݔ)         − 2)ଶ = 1
     ඥ(ݔ − 2)ଶ⎯⎯⎯⎯⎯⎯⎯⎯ = ±√1⎯⎯ 

ݔ               − 2 = ±1

ݔ = 2 ݔ = −2 ݔ − 2 = 1

ݔ         = 3

ݔ − 2 = −1

ݔ          = 1

ଶݔ + 16 = 0
      −16          − 16
ଶݔ           = −16
      ඥݔଶ

⎯⎯⎯ = ±√−16⎯⎯⎯⎯ 

Can't square root 
a negative. 

ݔ) + 2)ଶ + 2 = 0
                   −2     − 2
ݔ)         + 2)ଶ = −2
      ඥ(ݔ + 2)ଶ⎯⎯⎯⎯⎯⎯⎯⎯ = ±√−2⎯⎯⎯ 

ݔ)2  + 1)ଶ − 8 = 0
                     +8      + 8
ݔ)2             + 1)ଶ = 8

            
ݔ)2 + 1)ଶ

2
⎯⎯⎯⎯⎯⎯⎯⎯⎯=

8
2
⎯⎯

ݔ)                + 1)ଶ = 4
            ඥ(ݔ + 1)ଶ⎯⎯⎯⎯⎯⎯⎯⎯ = ±√4⎯⎯ 

ݔ                       + 1 = ±2
ݔ + 1 = 2
     −1        − 1

ݔ          = 1

ݔ + 1 = −2
     −1        − 1

ݔ          = −3

ଶݔ                 − 4 = 0
ݔ) + ݔ)(2 − 2) = 0

ݔ + 2 = 0

ݔ         = −2

ݔ − 2 = 0

ݔ         = 2

ݔ)             − 2)ଶ − 1 = 0
ݔ) − ݔ)(2 − 2) − 1 = 0
ݔଶ−4ݔ        + 4− 1 = 0
ଶݔ              − ݔ4 + 3 = 0
ݔ)         − ݔ)(1 − 3) = 0

ݔ − 1 = 0

ݔ         = 1

ݔ − 3 = 0

ݔ         = 3

ݔ) − 2)ଶ − 7 = 0
                  +7      + 7
ݔ)         − 2)ଶ = 7
     ඥ(ݔ − 2)ଶ⎯⎯⎯⎯⎯⎯⎯⎯ = ±√7⎯⎯ 

ݔ               − 2 = ±√7⎯⎯ 

ݔ                       = ±√7⎯⎯ + 2

ܧܰܦ

ܧܰܦ

ݔ = √7⎯⎯ + 2 ݔ = −√7⎯⎯ + 2

 2 ൬ݔ +
1
2
⎯⎯൰

ଶ
− 8 = 0

            2 ൬ݔ +
1
2
⎯⎯൰

ଶ
= 8

               ൬ݔ +
1
2
⎯⎯൰

ଶ
= 4

            ඨ൬ݔ +
1
2
⎯⎯൰

ଶ
⎯⎯⎯⎯⎯⎯⎯⎯

 

= ±√4⎯⎯ 

ݔ                       +
1
2
⎯⎯= ±2

ݔ                              = ±2 −
1
2
⎯⎯

ݔ)2 − 2)ଶ − 7 = 0
ݔ)2         − 2)ଶ = 7

       ඥ(ݔ − 2)ଶ⎯⎯⎯⎯⎯⎯⎯⎯ = ±ඨ
7
2
⎯⎯

⎯⎯
 

ݔ                 − 2 = ±ඨ
7
2
⎯⎯

⎯⎯
 

ݔ                         = ±ඨ
7
2
⎯⎯

⎯⎯
 

+ 2

ݔ                         = ±
√7⎯⎯ 

√2⎯⎯ ⎯⎯⎯+
2√2⎯⎯ 

√2⎯⎯ ⎯⎯⎯⎯

ݔ                         =
±√7⎯⎯ + 2√2⎯⎯ 

√2⎯⎯ ⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯×
√2⎯⎯ 

√2⎯⎯ ⎯⎯⎯

ݔ                         =
±√14⎯⎯⎯ + 4

2
⎯⎯⎯⎯⎯⎯⎯⎯⎯

2 ൬ݔ −
2
3
⎯⎯൰

ଶ
− 7 = 0

       2 ൬ݔ −
2
3
⎯⎯൰

ଶ
= 7

     ඨ൬ݔ −
2
3
⎯⎯൰

ଶ
⎯⎯⎯⎯⎯⎯⎯⎯

 

= ±ඨ
7
2
⎯⎯

⎯⎯
 

ݔ               −
2
3
⎯⎯= ±ඨ

7
2
⎯⎯

⎯⎯
 

ݔ                       = ±ඨ
7
2
⎯⎯

⎯⎯
 

+
2
3
⎯⎯

ݔ                       = ±
√7⎯⎯ 

√2⎯⎯ ⎯⎯⎯×
3
3
⎯⎯+

2
3
⎯⎯×

√2⎯⎯ 

√2⎯⎯ ⎯⎯⎯

ݔ                       =
±3√7⎯⎯ + 2√3⎯⎯ 

3√2⎯⎯ ⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

                      

൬ݔ −
1
2
⎯⎯൰

ଶ
− 7 = 0

         ൬ݔ −
1
2
⎯⎯൰

ଶ
= 7

ݔ                −
1
2
⎯⎯= ±√7⎯⎯ 

ݔ                        = ±√7⎯⎯ +
1
2
⎯⎯

ݔ                        = ±√7⎯⎯ ×
2
2
⎯⎯+

1
2
⎯⎯

ݔ                        =
±2√7⎯⎯ 

2
⎯⎯⎯⎯⎯+

1
2
⎯⎯

ݔ                        =
±2√7⎯⎯ + 1

2
⎯⎯⎯⎯⎯⎯⎯⎯⎯

ݔ = 1.5 ݔ = −2.5

ݔ =
±3√14⎯⎯⎯ + 2√6⎯⎯ 

6
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

Rationalize

C11 - 4.3 - Solving by Square Root Method Notes
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